3 S
-“‘"H-..h
_‘.I"
- -
- - \ =
= - -
Mumnmumammm| |IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIInIII| i | |
—— [ N ————
311 308 307 306
Ankleide Korridor DU/ WC Reduit
RH:2.48 m RH:2.48 m RH:2.48 m RH:2.48 m
pKiE +1240 prre: +12.40 b 6: +12.40 K 1B +12.40 |E
DK B 1221 pKrs +1221 bKre: +1221 KrB: +1221 |F
: UB geschiffen 6.90 m2  W.Verputzt B: UB geschiifien 16.37 m?  W.Verputzt B: UB geschiifen 3.46 m? W:Verputzt B: UB geschiifen 1.91m? W:Verputzt 1
D: 3P D: 3P D: 3sP D:3sP
.
313
Eingang / Gard.
RH:2.48 m wa U
e
il ‘ ‘
L bk +12.01 L
o S — — — — —— o ) — = = = = = = U —— b e o e —— ]
3 B: UB geschiffen 14.24 m? W:Verputzt
D:35P T
315
Biiro / Lager
RH:248m OKfB: OK
rB:
301
. 1 +12.40 Korridor
3 221 RH:2.48m OK{B: L —_——— —
H] OKrB:
I 1
B:UB gesch\r’fen 196.68m? W:OSB/Beton
D: 3sP
‘ ‘ ‘ ‘ ‘ i ‘ § i
=% +12.28 5 5
B ¥ kK
S S B: UB geschiiffen 23.61 m? W:Sichtbeton @ @
o D:35P 2
: I
‘ ‘ ‘ ‘ bzag |
| iiag |
| e
‘ ‘ ‘ ‘ | DACHAUF
I VERBINDU
| 77.69 M
| | | | ’ [ =
L~ | | TN I
i | |
[ S— I
) | . — |
i | | | |
— - |
- == | | | ™ |
——
= == / | ™~ I
T e — I |
=———===F / . \
——— ) | | \
——
ey T =y~ |' L ll‘ e
= e oK
T ———
—_— e,
e
— e e e _Markiso ] DK ok
Surzron v1a7a —————
L fertg +14.645 Sturz roh: +14.74 - - —_—— “eltorkio 1
—_——
St fer: +14.645 Sturz roh: +14.74 - e — N
Stz forti: +14.645 e L
Sturz roh: +14.74 — e — —
Surzfertg: +14 645 Stz roh: +14.74 - it T
[
Stz fert: +14.645 5 —— ] e
J —_————
__—————_______________
1 [ 1 1 1 [ I



